Envmy, tiig. practice mathiZ\

@ Define anceos(x) v be theangle 9 in [0, 7] st cosd=X.

The gouow‘:nq exencien are weant toallow yowto apply the same
sont of neasovivig as we wied fo study arctan(x) & arcsin(x).

@) Why do we wx [0,7] instead of [~/ 7]
(Like with ancsinx) 2

b) Shekch 4 aqpaph of anceos(x). What is ths domain
& nangye?

c) Evaluate s ( anecos (— 112)) _

4) Une impinrt differentiationts find 4 (anceos).

[ comment: ancsing s wred mese ot in integaly. Tryto quess why.



o) Find % ancsin(Vx). b) Find d_‘f.( anctan (£).

@a) Find e” /2

‘r I-l-eix&”‘ 19) Find fo ls-:-n;og%( &X
@ ) Fivd !

* | o A b Fnd [ —ELT I

//H'”’*‘ Ty 1o sealethe numeatn & denominglor to gt a wose femiliar form,



